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UTto Takoe cripsokeHMe?
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JiItaM 1 KopMIT
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I 1a204bl = UCKAIOUCHUAL.
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Hauanpnaga dopma
Ha - UTh ( Kpome
rinarosioB bPUTD,
CTEJIUTD)

4 riaaroJsia, HadaJibHas
dopma Ha - aTh

THATD,[IBIIIIATD,
TTEPKATD,
CJIBIIIIATD.

m 7/ IJIaroJjioB,

Hava/IbHasA popMa
Ha -€Th

BEPTETD, BUETD,
3ABVICETD,
HEHABIVJIETD,
ObVIETD,
CMOTPETD, TEPTIETD.
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Paboma 6 nape.
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IHommuiy oKOHYaHMs IJ1aroJjios.

Bepryimka Bcé Bpemsa

BepT. .. c4 (2), IIHBIPA .
...(1), Xypuwnt, bopmoOH .
....(1), 3BeHUT U 11€H ....cd
(2) BO3JIe KaXX[IOr0 KaMHs
VUIV yIIaBIIIero CTBOJIA
Oepé3bl, TUXOHBKO
HarreBa.....(1),
pasroBapwmsa....(1) cama c
cobor,
[TPUIIENéEThIBa. ...(1), n
HeCET I10 JHY OY€Hb
[IPO3PaYHYIO BOMY.
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